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a,b: IEDOH.
BT 2 — %” ST by — Vab,
ai Z b1.

@ ay, by DEMITY ay, FATFEI by,
@ as, b2 o)%ﬁjqzi% as, %\%'fﬂqziéj b3.

o ...

RS - R 2 IS S E 2 H 0 R S

an + by
2 )

dpt+1 — bn+1: anbn (n:0,1,2,...;ao:a, b():b)
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b=by<b <h<--<h<---<ap<--<ap<aLa=a

(3
lim a, = lim b, &75.
n—o00 n—o0o

BT AT (arithmetic-geometric-mean)

a, b DEAFEMTYT M(a,b) = lim a, = lim b,.

n— oo n—oo

(lima, =limb, &7 58H)

n b, o n bn 1
an+1 — bn+1 = i - anbn S an + — bn = (a,, — bn)7

2 2 T2
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an, by — M(a, b) DILHIHD T HON.

(BI) a—a0—1,b= by = 1/v2 DB -

an

bn

g~ WN R OIS

1.00000 00000 00000 00000 00000
0.85355 33905 93273 76220 04221
0.84722 49029 23494 15261 57738
0.84721 30848 35192 80650 97026
0.84721 30847 93979 08660 70003
0.84721 30847 93979 08660 64991

0.70710 67811 86547 52440 08443
0.84089 64152 53714 54303 11254
0.84720 12667 46891 46040 36315
0.84721 30847 52765 36670 42981
0.84721 30847 93979 08660 59979
0.84721 30847 93979 08660 64991
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K(k) = /”/2 dg B /1 dx
0 V1—k2sin%0 0 \/(1—X2)(1_k2X2)7
k(0<k<1l) BEEL
5 1 M e R DA & BEHEA

w2 ;L — -
KK = ey K =VI-K i

BUEEHRG] (FEREEEHED) « MNBURBA T 15 (£ CTHIEE Ao T\ 5.

k K(k)
X RS =l
15747455615 17356 1.57474 55615 17356

0.1
v/0.5 1.85407 4677301372 1.85407 4677301372
0.9 2.280549138422770 2.28054 9138422770
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/2
l(a,b)z/ do (a>b>0)
o \/a?cos?6 + b?sin0

K(k) = I(1, K').

LB,

Z0 I(a,b) IZXL,

/(a,b):/<a;b,\/£> 1)

WRENDZDS, BHIDE ST a,b v BT - STEI % & 2HMERERD
U THH {a,), (b} KT 2L,

I(a, b) = I(a1, b1) = (a2, b2) = - - = I(an, bn),
£oT,
I(2.) = fim (2, b2) = 1(M(2,b). M(2,b)) = o5,
K(k) = I(1,K) = M?l/’zk,).
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(1) DFEEHA.
do
\/32 cos? 0 + b2 sin® 0

I(a,b) =
0 — t=btanf L EBLHT L L,

I(a, b) / .
t2 + 32 t2 + b2)

IHIT, t—>u=(t—ab/t)/2 LEBERT DL,

B du
’("’b)‘z/o V(w2 + ab)[au? + (a+ b)?]
:/OO du
0 2
J u2+<a:b) [u? + (Vab)?]
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